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QUESTION BOOKLET
This question paper contains 170 questions. /ST I IHH 170 TH & |

All questions are compulsory. / T I3 31f4ard & |
One question carries half mark only. / T T4 o T Shaet 3TTe 376 2 |

Maximum Marks : 85 Jfereray 31 : 85
Time : 2 Hours a9y ;2 gue
1. Haversian canals are found in
(A) Bones (B) Brain (C) Kidneys (D) Lungs
AT FfeTehTd TS ITT & -

(A) Bfggid (B) uwfaswd (C) gFHd (D) %wei

2.  Heat regulating Centre is located at —

(A) Thalamus (B) Hypothalamus

(C) Medulla oblongata (D) Cerebrum

e T g rafea @

(A) ™ (B) ErgIdHE e

(C) el ATeATIe] (D) B (YHfEasH) Se
3.  Mitral cells are present in

(A) Kidney (B) Mitral valve

(C) Oflfactory tract (D) Optic nerve

firget ShifSrepTd UTg AT % -

(A) JFRH (B) figaarea® (C) MU H (D) GhAEGRIH

4.  Sensitive pigmented layer of eye is —
(A) Cornea (B) Retina (C) Sclerotic (D) Iris
I T Folc] Fuiehdl TR & :
(A) W=BHSA (B) g uea
(C) vadues (D) dfaTiEhT (aett)

5. The Nissl’s granules of nerve cells are made up of —
(A) DNA (B) RNA (C) Ribosomes (D) Protein
ARt SIfSTeRTaA i f s Sttt o+t ardt & -
(A) DNA (B) RNA (C) TS (D) Wi
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6.  The type of joint between sacrum and coccyx is a —
(A) Symphysis (B) Synostosis
(C) Synchondrosis (D) Syndesmosis
TshY TUT hITead o Te7 fohd JehI ol SaTEe BT & 7

(A) Fmefm (B) wrAifim (C) faeeitte (D) fasmnfam

7.  The main solute component of urine is —
(A) Urea (B) Glucose (C) Agglutin (D) Urobilinogen

o

TH 1 I fooi aeh & -
(A) Fren (B) TSt (C) e (D) Fufsfertrom

8.  The site of oogenesis is
(A) Ovary (B) Ovum (C) Oocyte (D) Oviduct
SENEE :

(A) JemEE  (B) S H (C) IFshd (D) féaanfeh =

9.  Bone is the example of —

(A) Connective tissues (B) Epithelial tissues
(C) Nervous tissues (D) Muscle tissues
gt fpaeht SgrEmr 8 7
(A) GISH S H1 (B) SUShAAT e 1
(C) dLreR s i (D) HTEUSf

10. Afferent nerve fibres carry impulses from —
(A) Effector organs to CNS (B) Receptors to CNS
(C) CNS to receptors (D) CNS to muscles

qfoAehT T TS T I8 LT § :

(A) HdeTUTEr 3 & CNS % (B) 3fumgEsh § CNS %
(C) CNS ¥ 1fimmesh ah (D) CNS ¥ =g dh

11. Length of male urethra is approximately —

AT hi TG T -

(A) 18-20cm (B) 10-12cm  (C) 30-40cm (D) 2-4cm

12.  Which bacteria is normally present in vagina ?

(A) Streptococci (B) Hemophilius influenzae

(C) Lactobacillus acidophilus (D) Corynebacterium Sp.

A F FrT=r: A 1 sfeefEn (Sfem) e S g 2

(A) HRIHIHTE (B) femrsfered sereydst

(C) TReRed tREwrad (D) HRTE-sfaciem ot
Code No. : C-606/2020/Series-A 4

https://snowstudy.in



13.

14.

15.

16.

Blood groups were first discovered by —

(A) Robert Koch (B) Karl Landsteiner

(C) Paul Ehrlich (D) Anton Von Leuwenhock
T g U9 @il ¢ A

(A) TS i g (B) i USHEH g

(C) ufet gafeta gm (D) T2 91 cJogih gRl

Which of the following arteries primarily feeds the anterior wall of the heart ?
(A) Circumflex artery (B) Internal mammary artery
(C) Left anterior descending artery (D) Right coronary artery

frefeiad 8 9 F = aat grafies 9 9 geg i swed i = aiftg wdi @ 2

(A) ufEses ot (B) 3TdNeh T Gm-t

(C) arff S sree gt (D) <t Be Tt

The term respiration refers to —

(A) Ventilation (B) Gas exchange within lungs
(C) Oxygen utilization within cells (D) All of these

UG YIE Hefid | -

(A) Hara= 9

(B) el o Hiaw 74l & fafmar 4 25

(C) =hIT3TehI3T o iR ATeRfiSi o ST &

(D) IBal

Which of the statement by the client to the nurse indicates a risk factor for
coronary artery disease ?

(A) Iexercise every other day

(B) My father died of Myasthenia Gravis

(C) My cholesterol is 180

(D) Ismoke 1% packs of cigarettes per day

TS g 8 o1 fean i o1 SeH I8 30T ar 7 T 39 7g aml Smwd @
Sfem g ?

(A) H T g fe erd shan g |

(B) R U shi g T Ufead & g3 of |

(C) B HIiETet 1807 |

(D) © vl fead 1 Yopcg fame o drar § |
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17. Which complication of cardiac catheterization should the nurse monitor for
in the initial 24 hrs after the procedure ?
(A) Angina at risk (B) Thrombus formation
(C) Dizziness (D) Falling blood pressure

TR qUT B o T¥ETq TR 24 T2 o foT¢ 78 ol Tt ATeT-vTeTrent Yo <ht
fopm Sifeetar w1 At ST =mfey ?

(A) TIETIETE SHTEH (B) e (rereht) fomior

(C) =Rt (Fodl) (D) firan wa =

18. The nurse is performing a neurological assessment on a client posterior right
Cerebro vascular accident. Which finding, if observed by the nurse, would
warrant immediate attention ?

(A) Decrease in level of consciousness

(B) Loss of bladder control

(C) Altered sensation to stimuli

(D) Emotional lability

T U T b Ive gRif TS -aTeher TS W =ieirsiiohe] THEHS S Tl ¥ |
i |7 Tseny Ife T8 g ATAlfhd BIdT &, oid Srd & JHNT ?

(A) =T % &R H firree (B) 31y faemor 7 7ifa

(C) 3ITASHT & Ufd Iierd T (D) 3Tasfta srferar

19. Which drug is used in the treatment of hyperthyroidism ?
(A) Levothryroxine sodium
(B) Thyroglobulin
(C) Lugaol’s solution (strong iodine solution)
(D) Calcitonin-Human

3rae Atk = for fere gim o1 =T fepaT ST B 2
(A) chamgte aifeam (B) URRFASfH
(C) ot o (A ST aid) (D) ShfeweitH — g8

20. A nurse enters a client’s room to discover that the client has no pulse and
respirations. After calling for help, the first action the nurse should take is —
(A) Start a peripheral IV (B) Initiate closed chest massage
(C) Establish an airway (D) Obtain the crash cart

Teh T4 Teh AN o h& H I8 1A i o [T Yo Hdl & fob A0S § e qen
v foran 71 8 | geran o foiu 3tam e & sTe, 9 <6 vem gfatean gt
ITfeu

(A) IR TV 3] T | (B) TI3ffa 981 HETS IRY AT |
(C) TN Tfia ST (D) 3TTUTAehTe SIS JTed LT
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21.

22.

23.

24.

25.

26.

Kussmaul’s breathing is associated with —

(A) Pneumonia (B) Diabetic Ketoacidosis
(C) Cardiac arrest (D) Pulmonary embolism
HITA YaeH foren TG 7

(A) =" (B) smfdlce fererufeifad @
(C) uigelY (D) T 3= eI
Pheochromocytoma is associated with —

(A) Adrenal gland (B) Pituitary gland

(C) Pancreas (D) Thyroid gland
BIRHETEH TG & -

(A) AEFR TR (B) dRwIfy  (C) r=mm (D) 3Tag ufA

Webster test is done to diagnose —

(A) Eye problem (B) Hearing loss -\EJ%
(C) Respiratory problem (D) Cardiac problem Iiscks
Jaeet werr feheeh figH @ fofu &t STt 7 7

(A) TR TEET (B) AU BN (C) YaE HEHRN(D) TG hl THE

Nurse patient ratio in ICU should be (for 24 hrs)
ICU T 78 7O 1 37T (24 el o foTu) HT =1fe -

(A) 1:3 B) 1:1 < 2:1 (D) 1:2
Complication of myocardial infarction includes

(A) CHF (B) Arrhythmias

(C) Cardiogenic shock (D) All of these

EEUETe SAfeetal ¥ Hiiferd @ :

(A) CHF (B) AdTeTal (C) TIaaard (D) I8 |t
Fracture within the last inch of the distal radius is known as

(A) Colle’s fracture (B) Pott’s fracture

(C) Edward’s fracture (D) None of these

T SR eI TBeRT o ST | 1 31T STAHT HgATdl & -
(A) whiett AR (B) Wi s (C) teds AR (D) 3 & i 81
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27. Which of the following alimentary canal is the most common location for
Chron’s disease ?
(A) Descending colon (B) Jejunum
(C) Sigmoid colon (D) Terminal ileum

SATER AT <Rl b4 @1 & shid S\ o fou gdam= WA 2 ?
(A) e g8 (B) WeATA (C) TauTE e (D) Eiwrad 2=

28. Preparation of the client for occult blood examination is
(A) Fluid intake limited only to 1 litre/day
(B) NPO for 12 hrs prior to obtaining of specimen
(C) Increase fluid intake
(D) Meat less diet for 48 hrs prior to obtaining of specimen

TS b T 1o TR0 o foTe I &
(A) T TEYT ol Teh Totex Ul fead ek Hiftra e |
(B) AT oH | Yd 12 w2} % feTT NPO |
(C) A UZU SGHT |
(D) T oF | Yd 48 T2 % foTe 7rd Ted Wie |
29. The nurse preparing to assist the physician to examine the client’s skin with
a wood’s light would do which of the following ?
(A) Obtain an informed consent
(B) Tell the client that the procedure is painless

(C) Shave the skin site
(D) Prepare a local anesthetic

T T8 ThSieia hl GganT shi dail hid g forelt 7l i = 1 98 ose
1Y F{eg01 SRt o foT e o 9 R Rt ¢
(A) T gfad ggyfd g saft |
(B) st =l srqeret <6t wfskan der a ® |
(C) T Tt T <t 31d it
(D) Teh TATHIT U AR it |
30. If breath sounds are only heard on the right side after intubation —
(A) Extubate, ventilate for 30 seconds then try again
(B) The patient probably only has one lung, the right

(C) You have intubated the stomach
(D) Pull the tube back and listen again

AfcTeRT - o TvETq AfE T8 6l i shadl gl S & TR ¢ -
(A) TRt fehTeT €, 30 BehUs o ToT HeTa ¢ 37 AT T =t |
(B) TS H hael gRIT hWeT BIH Shi AUTSHT 2 |

(C) 3T STSTH AfeTehT-Tois SHL & 2 |

(D) HfeTent ! aTad e au1 fR & &3 |
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31.

32.

33.

34.

3S.

36.

Diazepam is prescribed for a client with anxiety. The nurse instructs the
client to expect which side effect ?

(A) Incoordination (B) Cough

(C) Tinnitus (D) Hypertension

SRS Ush 3gat T <l feferd < 18 & | 79 form Fuvma = foTw 31mmg a2
(A) ITEESH (B) widt (C) Huigds (D) 3= W™

Spinal anesthesia is given at —

THeey GAeTel el W fear Srarg ?

(A) L2-L4 (B) L3-L4 (C) Ls-Le6 (D) L1-L2
What is odynophagia ?
(A) Difficulty in swallowing (B) Pain during swallowing
(C) Unable to swallow (D) Regurgitation
‘SNSEHMGET F 18 7
(A) e o deefis (B) fretd om=r €¢
(C) T & s1em (D) e
Which hereditary disease is most closely linked to aneurysm ?
(A) Cystic fibrosis (B) Lupus erythematosus
(C) Marfan’s syndrome (D) Myocardial infarction
I it FETd U g foeeR & e T A IS g8 ©
(A) 9= agquarr (B) YuH T{emHIEE
(C) ARHA faehr (D) BT -
i
Sympathetic nervous system induces
(A) Secretion of digestive juices (B) Increases heart rate
(C) Secretion of saliva (D) All of these
oG] Tt JUTTelt SIRd hid &
(A) YTk T 1 €16 (B) =¥ bl QU @M1
(C) TR & (D) ug &t
ECG changes in myocardial infarction is
(A) ST Segment elevation (B) Wide QRS complex
(C) Presence of U-wave (D) Prolonged PR-interval
geUHTe § ECG uied a1 8
(A) ST @WUg I~ (B) ¥&d QRS %
(C) U-aur st 3ufefa (D) 3faeis PR-31AUSA
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37. Classic symptoms of deep vein thrombosis includes all the following except —
(A) Muscle pain (B) Homan’s sign (C) Swelling (D) Redness
T I v & =g aaft uruies @reror 2, faams

(A) ¥gHeE (B) 8 Ehd (C) oM (D) ST

38. How anurse will teach breathing exercise for patient with chronic bronchitis ?
(A) Use chest breathing (B) Use diaphragmatic breathing
(C) Use open mouth breathing (D) Use deep inhalation breathing

ShIf-eh SI=ehTS{ed dTel UMM Shl T8 TG o <hY hotd ohd feramaft 7
(A) X TTGH T ITA R | (B) HEIUE IS T ITAN . |
(C) Tl Hg | w8 =l | (D) &l |iE TRt 3T=T: I i |

39. A nurse is taking care of a patient with DVT and she must be aware that
venous emboli will be lodged in —
(A) Heart (B) Lungs (C) Liver (D) Kidney
Tk 99 DVT 91t T <h @l o & 2 | 39 39 §1d © 37e07d 21 918U
e 31 :3red ol g =TT -
(A) BT (B) wweid (C) IHad (D) g&h H

40. Conjunctival xerosis occurs due to the deficiency of —
(A) Vitamin-A (B) Vitamin-C (C) Vitamin-B (D) Vitamin-D
AT I[sehd fehEehl ShH! < HRUT Bt & 7
A) feefim-A B) fwefim-c () feefim-B (D) foefim-D

41. A patient with gout should follow what type of diet ?

(A) High calcium diet (B) Low purine diet
(C) Potassium modified diet (D) Renal diet
ST aTet Ut i Tohd Teh =ht GUreh /WIS o1 ATfeT 7

(A) I Hicy=m GUh (B) ™ S G
(C) diRrEm TUTaid Gush (D) T TIfrd GUsh

42. A patient is suffering from a broken jaw. Which foods would be most
beneficial for this patient ?
(A) Carrots, fried chicken and cereals (B) Rice, watermelon and smoked fish
(C) Tacos, peanuts and fresh broccoli (D) Soup, pudding and ice cream

T M g2 §U SSsl ¥ AT & | 39 Wi & fIu Tohd WehR &I HISH Gaileeh
TACHE &I 7

(A) TSR, Y it a1 3 (B) =T, TS a1 gid Toett
(C) oIS, <RI SeT e arsht siehiett (D) g, IfST a1 3Msd -3
Code No. : C-606/2020/Series-A 10
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43.

44,

45.

46.

47.

48.

Prevention of Food Adulteration Act was amended in —
(A) 1964 (B) 1976’ (C) 1986 (D) AIll of these
T fhreree Tepumm StfafTem § iy g ad

(A) 1964 (B) 19764 (C) 19867 (D) ug aft

Good source of vitamin-D includes all except —

(A) Blue Berries

(B) Sunlight o

(C) Salmon ﬁ'%

(D) Fortified milk and other dairy products

g g+t faerftM-D o 37=3 &id & e

(A) = (B) ST

(C) HreH= (D) 936 g9 a1 3 20 391G

The word personality is derived from Greek word “Persona” which means —
(A) Drama (B) Mask (C) Cloth (D) Face

ITeg “TEATCAS!” Iieh SIeg “THMT | A~ 371 7, Toreeh1 Haeis ¢ -

(A) 31 (1e%) (B) W (@len) (C) & (F9) (D) B4 (&)

In which defense mechanism an emotional conflict is expressed by a
physical illness or physical symptom without any organic cause ?

(A) Sublimation (B) Conversion

(C) Compensation (D) Suppression

forr foreht e T 6 weh feeh ST 31ean efesh oiermr g fore deeror yomreft

T Teh 3TTeTTTcHe: TEY gRT ST ST 7
(A) =T (B) HUHO (C) a@faqfd (D) &

Nurse patient relationship is —
(A) Human to human relation (B) Superior subordinate relation
(C) Subordinate superior relation (D) Employer employee relation

TE - TS 1 T BT @ -

(A) A4 ¥ qHd & (B) afss-whiTss dag
(C) HiT3-aiss gay (D) T -spdar ey
Which of the following is not the type of the wound ?
(A) Contusion (B) Ulcer (C) Laceration (D) Puncture
= 4 @ o o1 e H IR TR ] 7
(A) FEeH (B) ISl (C) faer (D) oA
11 Code No. : C-606/2020/Series-A
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49.

50.

51.

52.

Immediate treatment of ingestion of poisonous subject is
(A) Induce vomiting (B) Forced diuresis
(C) Gastric lavage (D) Seek information to identify drug

ToraTerd UeTel o 378U 1 i ITER & -
(A) Il BT (B) AT AT
(C) “ei™ veaTerq (D) GTaTE hl Tg=H o foIT SR et

The minimal score possible on the Glasgow coma scale is —
TETE! ShIHT Tohel TGS =W ThIR & :
(A) 1 B) 2 © 3 (D) 5

Concentration of KMnO, solution used for oral hygiene 1s —

3T BTESTH o foTt I KMnO),, H1eT <1 HIgW & :
(A) 1:1000  (B) 1:5000  (C) 1:100 (D) 1:10000

What is mandatory before glucose tolerance test ?
(A) NBM 8-10 hrs prior to test

(B) Rich carbohydrate diet from 2-3 days before test
(C) Stop the giving medication

(D) No need to change anything

ToTehIST TSI T F Uget AT SATTYAD § 7

(A) T 8-10 Tv¢ 96§ NBM

(B) W&ot @ Uget 2-3 T ah Seigsge Tg WIS

(C) QaTsal o1 =g W |

(D) I3 UG <hl STTIIhdT T8I & |

53. Knee-chest position is also known as
(A) Fowlers position (B) Lithotomy position
(C) Genupectorial position (D) Left lateral position
PeA-B1cht i ferfa a8 oft Fgarmd & -
(A) iR feafa (B) forenerd feufa
(C) Tuaifee feufa (D) smT-urye feufd
54. Method of administering a drug by topical friction over skin is called
(A) Instillation (B) Inunction (C) Insertion (D) Insufflation
o1 o HUL Gdd] INUT gRT Ush 2dTs o <l fafar 2 |
(A) SERM (B) TR (C) &= (D) THRIRH
Code No. : C-606/2020/Series-A 12
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5S.

56.

57.

58.

59.

60.

61.

Infusion of 1000 ml of NS over 12 hrs require how many drops per minute
when the drop factor is 15 drops/mint ?

(A) 15 drops/mint (B) 17 drops/mint (C) 21 drops/mint (D) 23 drops/mint
12 992 & NS &1 1000 ml =T 39 & & o fera gia ufa fire g =g gfa
el 15 g1 /f. & ?

(A) 158a/Mm.  (B) 173a/Mm.  (C) 218w/ (D) 23 g/,

In autoclave temperature should be —

ST -Foid § d9HH fohd=T BHT =8 7

(A) 63°C (B) 121°C (C) 115°C (D) 141°C
In adults most common site for taking pulse is —

(A) Radial vein (B) Radial artery

(C) Brachial artery (D) Ulnar artery

FEh! § Tod i ! Fd—TH= 915 ¢ - SAE
(A) 38 T (B) 3t gt

(C) SATUEt el (D) 3T=: TehIfSaeh guHt

Hey’s test is the test for —
(A) Albumin (B) Bile salts (C) Acetone (D) Bile pigments
g 1 TV foheeh fefT 8 7

(A) TeHA (B) fim &m (C) tfem (D) T

Calculation of pediatrics doses of medication for children under the age of 1
year is done using which formula ?

(A) Oddi’srule (B) Fried’srule (C) Young’srule (D) Evan’s formula
T Y 6t Y fidR * STeh & foru gars w1 difsugiea e i o fem
BT & hl AT 7 7

(A) gt (B) weesfm  (C) s fem (D) 3™ BHAT

1 ounce is equal to
(A) 4 teaspoons (B) 6 teaspoons (C) 8 teaspoons (D) 10 teaspoons
1 3719 o SRR 3 -

(A) 4=w= (B) 6=H=HdA (C) 8=HA (D) 10=H=

Which of the following is considered as most important aspect of hand
washing ?

(A) Soap (B) Water (C) Friction (D) Time
=1 5 9 S |1 g1y 914 6 SAfd-TEaqul uge] JHT ST 8 7
(A) ¥ (B) Wi (C) =uu (D) &
13 Code No. : C-606/2020/Series-A
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62. The founder of modern nursing is —

(A) Dorthea Dix (B) Florence Nightingale
(C) Clara Barton (D) Marry Mahoney

(A) sifdanfedm (B) wRETRES (C) I ERA (D) B8 A8

63. Maslow Hierarchy of need is useful to nurses who continually prioritize a
clients nursing needs. The most basic or first level needs include
(A) Esteem and self-esteem (B) Self-actualization
(C) Love and belonging (D) Air, water and food
HIEAT 1 SEeThdl FAPRY 3 4 o fore Iunft 8 S @waa Wit 6 afdn

JTETIHATIT ol STAT <t & | TTTh IR AT TG &R ATl o

'Fltl'l'%ﬁ%:

(A) THH YT WHH (B) wW-I S HT
(C) @R ayr gwfd (D) &4, Uit T WieH
64. Lactated Ringer’s solution is contraindicated in —
(A) Hypovolemia (B) Burn
(C) Lactic acidosis (D) Fluid lost as bile or diarrhea
e o Hie ffvg # -
(A) BRUEABT
(B) e
(C) ifaes wfaeifed

(D) T 3reen rfeem o &9 H et 6 71

65. The stool discharge from ostomy is called
(A) Effluent (B) Cathartics (C) Colonic fluid (D) Mucosa
T 8 7 Tehde shagardn & ¢

(A) sE€a®  (B) fo=e (C) e Wl (D) =ehid

66. Color coding for nitrous oxide cylinder is —

(A) Black (B) Black with white shoulder
(C) French blue (D) Grey
TTgeH ATaargs feiet & fofe e wifen 2
(A) Hra (B) H%e HIeel o T HIedl
(C) Wa s (D)
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67.

68.

69.

70.

71.

Sharp instruments should not be sterilized by —

(A) Autoclaving (B) Boiling

(C) Hot air oven (D) Antiseptic solution
fe0T IR ol TSkt &1 fehal ST & -

UNBEIESICUEAR (B) 39T

(C) Tie TR 3AfeH g (D) TSI HIGgeH g
The most common injury among older person is —

(A) Atherosclerotic changes in the blood vessels

(B) Increase incidence of gall bladder disease

(C) Urinary tract infection E‘%

(D) Hip fracture e

g AT H FoaaT &l 8 -

(A) T A= H TeRERrifes alads (B)  fummerr a6 gean o sgiad
(C) TA-TT TehHYT (D) e et

Immunity means —

(A) Antibodies & antigen reactions

(B) Transfer of maternal antibodies across the placenta
(C) Level of resistance of a person to a particular disease
(D) Acquired immunity by immunization

IcRe | e 3 -

(A) TASTES a2 Tie Ufafshamd

(B) 3101 % IR HIeh TIETSISl ol TAMIAT

(C) Tereht fafsmse sfiumd = ufa v =afaa o1 fatig &R

(D) wifcreqor gry 31feta wfeet

Which of the following is moist heat method of sterilization ?
(A) Autoclave (B) Hot air oven
(C) Pasteurization (D) None of these

= 0 9 % o) fagsau 6 g aa fafar @ 2
(A) 3Afdwi@ (B) B TR 3N (C) gl (D) 0 § g T8l

The disadvantages of incinerator is that it generates —
(A) Highly toxic gases (B) UV rays
(C) Radioactive rays (D) X-rays
YA o1 Teh I-TH Ig & Toh I8 I~ 1 3 -
(A) i foarerd o=t (B) TUrsTHY fertot
(C) tfeamafsra fepeot (D) &-fertai
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72.  Which antibody is responsible for allergic responses ?

AT TfTHTe o TTT b9 A1 Tie el STRert & ?

(A) 1gG (B) IgA (C) Igh (D) TgE
73. The causative agent of plague is

(A) Mosquitoes (B) Yersinia Pestis

(C) Mycobacterium tuberculi (D) Mycobacterium leprael

T <1 ShITeh Tald &

(A) T=H (B) aféfran v\

(C) Hﬁéﬁf@nw (D) HREhISFRITEM oisft

74. Red Cross Society was founded by
(A) Henry Ford (B) Henry Dunant(C) Henry Browen(D) Henry Clyde
IS ShiF HIETIE! hl T hi ot

A) eH®HE  (B) R (C) gsad (D) g wige

75. Which Committee is also known as Health Survey and Development
Committee ?
(A) Bhore Committee (B) Mudaliar Committee
(C) Shrivastva Committee (D) Mukherjee Committee

i = afufa wares goeqor au faera afufa’ @ off St STt 2 2
(A) wRAfmfld  (B) Herferr@dfa(C) famaa afufa (D) g@sit At

76. Schilling test is used for detection of —

(A) Folic acid deficiency (B) Cyanocobalamin deficiency
(C) Iron deficiency (D) Iodine deficiency
fepereh! T o foru fepferm adierr s 2T 7
(A) Witeres Titre i it (B) HIEAEhIEA i )
(C) <itg st st (D) ATfE 6t St

77. Temporary hardness of water is removed by
(A) Boiling (B) Filtration
(C) SODIS method (D) Addition of chlorine
STt ol STEATT ST G hl I & -
(A) SHTARL (B) =g
(C) SODIS fafa g (D) Tl foreTe
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78.

79.

80.

81.

82.

83.

84.

The National Family Welfare Programme in India was launched in —
A B TSERT TRER el ShRishH ofid g7 o1 7

(A) 1962 (B) 1958 (C) 1965 (D) 1952
ASHA worker is posted in all given below places except —

(A) Community centres (B) Sub centres

(C) Field visits (D) Super specialty hospitals
ASHA R @i 37 avft srrg W e fopar st 8, e

(A) HTHET 5 (B) 3U-*%

(C) & gerhrd (D) R T BIfeaed

NITI Aayog was established by Govt. of India on — oo
(A) 1% July, 2015 (B) 1* January, 2015 [el:ctr
(C) 1% January, 2014 (D) 2™ October, 2015

WA TR g NITI TR 1 €A1 ohdl <hl 178 oft ?
(A) 19T, 2015(B) 19ad, 2015 (C) 15948, 2014 (D) 2 TR, 2015

Imaginary perception is called —

(A) Delusions (B) Hallucinations

(C) Illusions (D) Magical thinking

ST (e TTIETT HEATI & -

(A) fawm (B) gfeewH (C) wifd (D) Sigg fo=
Which therapy is used for treating phobia ?

(A) Aversion therapy (B) ECT (Electro Convulsive Therapy)
(C) Systematic desensitization (D) Hypnosis

T3 o IUDR B T ST & :

(A) =T 9Ty (B) ECT (319l shi-aaiiera 2xf)
(C) vumeirTd forgumaierton (D) T (fgetas)

The Mental Health Act was passed in which year ?

TG ey Afafrm foha v aifid gam o ?

(A) 1955 (B) 1956 (C) 1987 (D) 1992

The duration of ECT is about

(A) 0.1to 1 second (B) 0.1 to 1 minute

(C) 1-2 minute (D) 20-30 second

ECT hl 3fafes T il 2 -

(A) 0.1 18%E((B) 0.181fFMe (C) 12T (D) 20-30 T%ve
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85. Stage of mania which is characterised by intense sense of happiness is
(A) Euphoria (B) Elation (C) Ecstasy (D) Exaltation
3G e, SN fop eerforehar & geft ot e aufa @, 2

(A) @Y™ (B) 3ot (C) BT (D) 3~

86. The disease is characterised by 4 ‘A’s of Bleuler is —

(A) MDP (B) OCD (C) Schizophrenia(D) Delirium
T SN S SR % 4 A’ G AT & -
(A) MDP (B) OCD (C) @fsd wahar (D) @f~dTd

87. Immediately before expulsion of fetus, which of the following cardinal
movement occur ?

(A) Descent (B) Flexion

(C) Extension (D) External rotation

YUT o TISehTeM o qXd gt =1 | 9§ hIF H1 B ohl =1t =ifed il @ ?

(A) ITEET (B) e (C) Y8R (D) =Tl FoH

88. An important landmark of the pelvis that determines the distance of the
descent of the head is known as —

(A) Linea Terminalis (B) Sacrum

(C) Ischial spines (D) Ischial tuberosities

#ifr 1 Tk TEwget frem () S o % sreEw A gt wid e @
HEATT & :

(A) Terfran efifnferm (B) Tshm

(C) SEfiae wTE (D) &t eETsiea

89. Early amniocentesis is done in which period of pregnancy ?
(A) 12-14 weeks (B) 14-16 weeks (C) 16-18 weeks (D) 9-11 weeks
U Ieadegd, THiae i fohd safy d e Srar 8 2

(A) 12-14F<® (B) 14-168w® (C) 16-18Fwrg (D) 9-11 Twmg

90. The placenta should be delivered in within how many minutes after the
delivery of the baby ?
(A) 5Sminutes (B) 30 minutes (C) 45 minutes (D) 60 minutes
FTeTeh ohi Teeftert = gwarq fehad fire o ftax st fecfted B =i 7

(A) 5fie (B) 30 fiae (C) 45 fiFe (D) 60 fime
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91.

92.

93.

94.

9s.

Which of the following fetal positions is most favourable for birth ?

(A) Vertex (B) Transverse lie

(C) Frank breech presentation (D) Posterior position of the head
w0 o foru e o & 61 ot yol <h) feurfa gaifues srgaa & 7

(A) UMY (B) 3oy feaf

(C) e s TIciehaul (D) 3fid i yv= feufa

In fetal blood vessel, where is the oxygen content ?

(A) Umbilical artery (B) Ductus venosus

(C) Ductus arteriosus (D) Pulmonary artery

YOI T aTfe-! | 3TiaiIs ©1eh hal aial & 7

(A) TR STt (B) S®Y Hg B2z
(C) <aeH AeR3TEE (D) FURE G e
Anterior fontanelle is ossified in —

(A) Soon after birth (B) At 6 week

(C) At 18 months (D) AtS5 years

(A) T T IR (B) 6 T8 W

(C) 18 HEM ™ (D) 5a4 W

The freshly prepared ORS (Oral Rehydration Solution) should be used
within —
(A) 12 hours (B) 24 hours (C) 36 hours (D) 48 hours

TSl AT 1T ORS <l ST | o o1 AMMET -
(A) 12 =v2i & iR (B) 24 902} & i@
(C) 36 =vai & i (D) 48T} & i
Which component lack in human blood ?
(A) Calcium (B) Vitamin D (C) IgA (D) Magnesium
I T Eieeh H5T o Tk | TEI BT & 7
(A) hicem (B) faaf@-D  (C) IgA (D) THfaem
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96. Severe muscle wasting, growth failure and loss of subcutaneous fat are
features of which of the following ?
(A) Kwashiorkor (B) Beri-Ber1  (C) Scurvy (D) Marasmus
iR Ueft &, gfg fosheran qen 3rd: @@= 9@ i 71 g T 1 @ foem & @E
g7
(A) FREREA (B) - (C) Thal (D) TEHd

97. Which is the antidote for streptokinase ?

(A) Protamine sulphate (B) Amino caproic acid
(C) Naloxone (D) Vitamin K
RIS T TS HH AR 7
(A) WIS Tothe (B) TR hilseh TS
(C) AT (D) T K

98. The first sign of ‘Digoxin toxicity’ is most likely to be
(A) Headache (B) Dizziness
(C) Anorexia (D) Nausea & Emesis

SIS ST T ohT ToH STTIHI HUTS A0 B
(A) free (B) =R (C) gar-31a@ (D) et qen s

99. Which of the following is injected deep [.M. by ‘Z’ technique ?

(A) Zinc (B) Iron (C) Calcium (D) Vitamin-C

‘7’ dehriteh g T 1 | 19 A1 T80 3RS LML B 7

A) T (B) ™A (C) Hfcam (D) foerftm-=ht
100. Which of the following is a functionally active form of vitamin D ?

(A) Gholecalciferol (B) Ergocalciferol

(C) Dehydrocholesterol (D) Calcitriol

=1 @ @ o w foerfim D 1 wriffd w9 @ afra e g 2

(A) TeTehfeHwbBle (B) 3Tohfedhiet

(OB HES AN (D) hfeafesna

101. The term bacteria was coined by
(A) Leeuwenhoek (B) Louis Pasteur (C) Robert Koch (D) Ehrenberg
UG SFINET h T A
(A) el (B) WEUNER  (C) TseHra (D) s
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102. Component of cell wall of fungi is
(A) Cellulose (B) Pectin (C) Chitin (D) Dextrin
®%G ohi SITTEhT Tl T T &

(A) TqAS (B) ufgea (C) srsfen (D) s#feq

103. Irregular nuclei are present in
(A) Neutrophils (B) Basophils (C) Eosinophils (D) Monocytes
srfrafia hgeh Iufedrd gid % -

(A) ghe®  (B) SHIfhed (C) Afafhen (D) WHETEE

104. Collogen fibres are characteristics of which tissue ?
(A) Muscular  (B) Epithelial (C) Connective (D) Nervous
hIcIrS dq foh8 Sceh i cTTeafirehar 3 ?

(A) Usf (B) 39l (C) HAH (D) dfet

105. Plasmolysis will occur when the cell is placed in ﬁw%
(A) Hypotonic solution (B) Hypertonic solution
(C) Isotonic solution (D) None of these

TS ShITITERT Bl foreTad § T T S TSHIATS Y Hfed BiaT & |
(A) FIOREE  (B) AfwEd  (C) THWER (D) T 9 g T8l

106. Cell membrane is

(A) Semipermeable (B) Permeable
(C) Selectively permeable (D) Impermeable
HITTehT fereet & -

(A) FGIUT  (B) YT (C) =Id U= (D) STUTTH

107. Most common monomer of carbohydrates is
(A) Glucose (B) Fructose (C) Sucrose (D) Maltose
FHIAEIESIH T TIHTHRI TheTeh o

(A) THS (B) RIS (C) GhS (D) AT

108. In meiosis, synapsis occurs during
(A) Interphase (B) Prophase (C) S-phase (D) Leptotene
1L H, P "fed BT g -
(A) FEIEET  (B) YEieE (C) S-3®m (D) WRiRH
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109.

110.

111.

112.

113.

Testosterone is secreted by

(A) Leydig cells (B) Spermatogonia
(C) Spermatids (D) All of these
ST 1 ©1d BT & -

(A) <ifeT SHIfRrepsn g (B) ToHIRT g
(C) SITh3[HIT] R (D) ot &g

At the time of implantation, human embryo is called

(A) Embryo (B) Blastocyst (C) Zygote (D) Foetus
% THI T 1 YT HEAT & -

(A) oo (B) =T (C) I (D) T

Ovulation occurs under the influence of

(A) Leutinising hormone (B) Estrogen

(C) Follicle stimulating hormone (D) Progesterone
ferereh yura o it feraicas afeq grar g 7

(A) (AT M (B) T&ISH
(C) ifcTehet eI BT (D) ToRTH

Amniocentesis 1s the withdrawal of amniotic fluid in
(A) Menopause (B) Lactation (C) Gestation (D) Parturition
Iy T Iod T 1 I 2 |

(A) WHg (B) gUuUH (C) Tmvan (D) &g

Sickle cell anemia is

(A) Autosomal dominant inheritance (B) X-linked recessive inheritance
(C) Autosomal recessive inheritance (D) X-linked dominant inheritance
T ShITITehT TR & -

(A) <feh guTet FemgTa (B) X-HAd S=5— SuIiTd
(C) <fesh J=a~ aemgma (D) X-HafHd quTet I
114. DNA nucleotides are attached by
(A) Hydrogen bond (B) Covalent bond
(C) Vander Walls bond (D) Electrovalent bond
DNA ~fFd311eEed I8 U & :
(A) TTESISH 99 (B) TEGHS a9y
(C) IMeL A 51y (D) forega-wish 5y
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115.

116.

117.

118.

119.

120.

Interferons are

(A) Anti-bacterial proteins (B)
(C) Complex proteins (D)
FUHUE B

(A) TE-F @ TEH (B)
(C) Sfea W (D)
Which is a respiratory disease ?

(A) Polio (B) Arthritis ©)
I vaET SHR R ?

(A) difer (B) ImEie®  (C)
Hepatitis-B virus is

(A) Hepadna virus (B)

(C) Retro virus
Fersfen- T 7 -
(A) QST aEE (B) aftafier aT3tE(C)

(D)

Streptomycin is produced by
(A) Streptomyces scoleus
(C) Streptomyces venzueleae
LM UTed S S @

(B)
(D)

(A) RRHEHE Shiehad (B)
(C) WHEHE AT (D)
Dermatoglyphics is connected with

(A) Skin diseases (B)
(C) Cosmetics (D)
SHINCTTShad ST 53T & -

(A) == 6! S | (B)
(C) srfesaa (D)

Anti-viral proteins
Anti-clotting proteins

T - T
T - AT T

Asthma (D) Cancer

T (D) e

Variola virus
Picoma virus

E'%E
g
I=]:®r

Wa@ (D) UTShMT aTSd

Streptomyces fradial
Streptomyces griseus

NN N o
SeclHlgHd helH

wemEad Ty

Skin care
Finger printing

< hl TEHTA 9

DNA element with ability to change its position is called

(A) Cistron (B) Transposon (C)

DNA T 98 <l ST 3791 LI THeaH i bl BT 3

(A) faega (B) gE@EH (O

23

et BuTs (eR-ff=m) &
Intron (D) Recon
T (D) M
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121. The seals found at Indus valley sites are made of
(A) Silver (B) Bronze (C) Steatite (D) None of these
fag ardt Tl 9 e drgt 1 ot

(A) =g (B) ®EH  (C) g hl (D) TH A HE T8

122. The philosophy propounded in the Upanishads is known as

(A) Yoga (B) Vedanta (C) Advaita (D) Samkhya
Iufree 3 wfearfed e 2 -
(A) = (B) dac@ (C) 3gd (D) &

123. The important administrative functionaries in the Mauryan age were known as
(A) Tirthas (B) Amatyas (C) Mantrins (D) Yuktas
TR I | HEwaqul yemEfes TR S ST 9
(A) e (B) ST (C) ==H (D) &

124. Who founded The Chola empire ?
(A) Vijayalaya (B) Rajendra-I (C) RajaRaj (D) Vijayendra
IS HIHTST T HEATTh HF AT ?

(A) fasae™ (B) TSg-1 (C) TS (D) faag

125. The only sultan who declared himself caliph was

(A) Alauddin Khilji (B) Mubarak Shah Khilji
(C) Khusran Shah (D) Muhammad bin Tughlaq
Th WA odH 8 319 3TT9%h! Gl St fohaT -
(A) TATHEH et (B) T WTE Rgetstl
(C) GoH W8 (D) HEWE foH qTeieh
126. The famous peacock throne originally belongs to
(A) Humayun (B) ShahJahan (C) Akbar (D) Nadir Shah
TG TRUEH Jovd €9 8 HEd & -

(A) TTIE (B) WEWE®  (C) FkRH (D) I IR

127. Tipu Sultan was finally defeated at the hands of
(A) Lord Cornwallis (B) Lord Wellesley
(C) Lord Dalhousie (D) John Shore
Y Foa™ 3Re § fope < gTeI Wt U 7
(A) WS Hiaied (B) e daistell  (C) ois Sagall (D) S IR
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128.

129.

130.

131.

132.

133.

The Prarthana Samaj was established by

(A) Jyotiba Phule (B) M.G. Ranade

(C) Atmaram Pandurang (D) Raja Rammohan Roy
ST FHTST hl TATOHT <h off

(A) STfasT Sl (B) .. TATR A

(C) STTCHRH IIgTT (D) TS THHTEA T

Block mountains have originated as a result of

(A) folding (B) faulting

(C) volcanic eruptions (D) All of these

fepereh afUTTRaEy soieh A1’ 1 fAmior g3 7 B
(A) T (B) =T o
(C) SETHE IR (D) IgaHt

The horizontal movement of air is called

(A) wind (B) jetstream  (C) air mass (D) pressure belt
41 hl &fsT =161 hEaT! ¢ -

(A) T (B) SewaE  (C) TAWR (D) < 9gl

The largest island in the Indian ocean is
(A) Sumatra (B) Maldives (C) SrilLanka (D) Madagascar

e mEgETR i gsR SEIdu B -
(A) gAm= (B) HreAdE (C) et (D) HTEHTERL

Which is not a greenhouse gas ?

(A) Methane (B) Carbon dioxide

(C) Chlorofluorocarbon (D) Nitrogen

Shi- T IR T TE R 7

(A) BeH (B) hHTe SEATHITES
(C) FARTFRIhTS (D) TEEISH

Which of the following is structurally the most stable region ?
(A) The Indo Gangetic Plain (B) The Deccan Plateau
(C) The Himalaya (D) The Punjab Plain

e 9 9 9 91 AT W e R &9 R 7
(A) fag—TmaeE (B) cfemfiwer  (C) fewrem (D) USTa o HeH

25 Code No. : C-606/2020/Series-A

https://snowstudy.in



134.

On which river are the Marble Falls located ?
(A) Mahanadi (B) Godavari (C) Narmada (D) Tapti
fore 7€ T FTHTER YU SrEfRA g ¢

(A) HEd (B) e (C) e (D) et

135. A body falling freely under the action of gravity has
(A) No weight (B) Minimum weight
(C) Maximum weight (D) No effect on its weight
TEcITShNUT o JTE & it gord I dig B 8
(A) fomm v (B) W HR
(C) 3Afrehad IR &1 (D) 3ok YR W hig YU T 9gal
136. The friction in a flowing fluid is called
(A) Density (B) Surface tension
(C) Viscosity (D) None of these
JaTed T § TY9T hadTdl § :
(A) =T (B) g™ (C) wIHdI (D) T 9 s A&l
137. Wateris a
(A) Linear compound (B) Polar compound
(C) Non-polar compound (D) Electrovalent compound
el ® Uk
(A) & Afis (B) et Afirh
(C) Irygdta i (D) foea-wash Afien
138. 95% ethanol is called
(A) Rectified spirit (B) Absolute alcohol
(C) Methylated spirit (D) Power alcohol
95% AT I el 1 3 :
(A) Eiifg wfife (B) fue ceepiget
(C) Tumse o wiife (D) Ifa Teshlge
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139.

140.

141.

142.

143.

144.

From where we borrowed the parliamentary form of government ?

(A) Russia (B) Ireland (C) Britain (D) America

B TN 1 GHA WY shal 8 U0 fham @ ?

(A) &4 (B) RIS (C) foea (D) SFHIEH

What type of writ is not issued under Indian Constitution ?

(A) Injunction (B) Mandamus (C) Prohibition (D) Certiorari

TR Gide™ & qgd i = ifrest S 7 6t S wehd? ?

(A) =em (B) TwGW (C) wfeug (D) 3w

Who administers the Oath of office to the President ?

(A) Chief Justice of India (B) Speaker of Lok Sabha

(C) Vice President (D) Prime Minister

ST bl UE <hl 39 i fearamar & 2

(A) YT o &I =ARTEhs (B) Ik IT 31e9e .

(C) 3u-Trsgufd (D) YoM e

What is the retirement age of the judge of Supreme Court ?

(A) 60 years (B) 62 years (C) 65 years (D) 68 years

aiod =TT o AT o1 fgfa 31y foha g1t § ?

(A) 60T (B) 62 a4 (C) 6599 (D) 6898

The purpose of devaluation is to

(A) Encourage export (B) Discourage export

(C) Encourage import (D) None of these

CELOEEIR R

(A) Tta ! e & | (B) =i =t dicantad e |

(C) 3T ! S@Tal ¢l | (D) ¥ ¥ IS &l

Capital market regulator is

(A) RBI (B) IRDA (C) SEBI (D) None of these

STt STSIR o T shiat & -

(A) RBI (B) IRDA (C) SEBI (D) T 9 His A&l
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145. Dis B’s father. B is C’s sister-in-law and A’s daughter. How is A related to D ?

(A) Wife (B) Mother (C) Father (D) Husband
D,B&ifuar 2 | B, CH ymft /g aen AR G & | A, D form bR wafera 2 7
(A) weft (B) (C) fomm (D) dfd

146. If the 5 day of a month is Tuesday, What date will be 3 days after the 3™
Friday in the month ?

e foreht T =1 diaal fo Hrretar 8, dt 36t o7 e Shar o o fe o ugemq
I = ariE gt ?

(A) 17 (B) 18 (C) 19 (D) 22

147. Which is the largest district (areawise) of Himachal Pradesh ?
(A) Kangra (B) Kinnaur (C) Lahual & Spiti (D) Chamba
TenTeret I 1 Ted aeT el (89 FAgER) A AT ?
(A) T (B) fo=iR (C) aR@-f&rdt (D) ==

148. Which district of Himachal Pradesh has lowest Scheduled Tribes population ?

(A) Una (B) Kullu (C) Sirmour (D) Solan
TeaTae Tee < S ¥, TSl § ST7gea STt shi et - e 8 7
(A) &1 (B) %] (C) fawdR (D) HieH

149. Indrahar pass connects Kangra with
(A) Pathankot (B) Dalhousie (C) Bharmour (D) Mandi
g2Tal el ISl hl e |
(A) T8F®HIE  (B) So@mi (C) wER (D) wuE

150. Hanuman Tibba in Himachal Pradesh is a

(A) temple (B) glacier
(C) water sports centre (D) Mountain peak
feaTae Tew H gHAH e B T
(A) =i (B) feae
(O BSEECNETET (D) ued fImeR
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151. Pin Valley National Park is located in which district of Himachal Pradesh ?

(A) Shimla (B) Kullu (C) Mandi (D) None of these
femraer wew % forg et o i ardh i 3 srafa R ¢
(A) Tmen (B) F (C) woet (D) T & lg T

152. Zaskar mountain range separates Himachal Pradesh from
(A) Tibet (B) Nepal (C) Bhutan (D) None of these
STERL TeaHTeT] TEHT=Ie JeRT ol 94 ! &

(A) Tossaa (B) Ut | (C) YR d (D) 0 9 s A&l

153. Who was the first chairman of Himachal Pradesh Public Service
Commission ?

(A) Lt. Gen. K.S. Katoch (B) Maj. Gen. I.C. Katoch
(C) J.C. Malhotra (D) K.C. Malhotra
feaTeret TesT oiieh B STRINT o YoM quTfd i o ?

(A) Al S .TH. Held (B) HR SIS 384, her
(C) <., Hegm (D) .5, AegE

154. In which year was the ‘Big Landed Estates and Land Reforms Act’ passed
in Himachal Pradesh ?

femmerel wew o form o ‘St i wfaat qen i gur situf=m’ o g ?

(A) 1951 (B) 1952 (C) 1954 (D) 1956
155. Gaiety theatre was opened in Shimla by the British in %

forfer grar ferwem 8§ 1§ fordet e @ren o 7 e

(A) 1885 (B) 1887 (C) 1891 (D) 1895

156. Which ruler of Bilaspur was forced by people to leave the state because of
his tyrannical rule ?

(A) Samundragupta (B) Anand Chand

(C) Ghamand Chand (D) None of these

fSTTER o 9 ¥ IMESH Dl 39 TR AT o HROT AR T Blgd T
HoreR fepam o ?

(A) ST (B) Mg (C) =HSwg (D) ¥H ¥ IS &
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157. Which ruler of Chamba was first to adopt the title of ‘“Varman’ ?
(A) Sahil Varman (B) Lakshman Varman
(C) Aditya Varman (D) None of these
I 1 I Tgel ek i A1 foraa ar’ o1 Reare grfee foram 2

(A) Tfgddsd@d  (B) dgauienH  (C) AMfcasd= (D) 390 § g &l

158. Himachal Pradesh Technical University is located at which place in

Himachal Pradesh ?

(A) Hamirpur (B) Dharamshala (C) Mandi (D) Solan
TeuTaret e § fopm StTg (M) “feumeet wew faeha Ifafed) fea ® -
(A) BHRYL (B) ST (C) Tvg (D) HieH

159. Which major hydel project in Himachal Pradesh is being run in
collaboration with Russia ?
(A) Nathpa Jhakri (B) Parvati
(C) Karchcham Wangtoo (D) Kol Dam
feTael IC9 § &9 o FEAN % 1Y i H eyl THeEd IS IfedE §
AT ?

(A) TR (B) et (C) ®HEBAATE (D) i arg

160. The book ‘Himachal Pradesh : Its Shape and State’ is written by

(A) Shanta Kumar (B) Dr. Y.S. Parmar
(C) J.C. Frank (D) O.C. Handa
“femmaet Tew : $ed 3 we e fopaeh g forgt 78 oft 2

(A) ST HAR (B) . 9™.TH. THR
(C) .. wih (D) 3., grer

161. Suhi fair is celebrated at which place in Himachal Pradesh ?
(A) Pragpur (B) Palampur (C) Chamba (D) Jhukhala
el AT fErT=ret T o fohel T 9 7RI ST & 7

(A) TR (B) MeWR  (C) = (D) g@ren
162. When is the ‘World Braille Day’ celebrated every year ?
(A) January4  (B) January22 (C) February4 (D) February 22
e Y fohd fem “forea sigef! foed’ wamn Sman @ ¢
(A) 4 SHal (B) 22 SHe{ (C) 4%l (D) 22w
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163.

164.

165.

166.

167.

168.

169.

170.

Which state has recently launched a helpline for women called ‘Damini’ ?
(A) Uttar Pradesh (B) Uttarakhand (C) Maharashtra (D) Rajasthan

fohdl T 1 BTt &1 § Rl b foTu ueh geuetsa Qi 31& <61 7
(A) YW  (B) IWEE  (C) HEWY (D) TSTEAH

Sunita Lakra, who announced her retirement recently, is a famous Indian
player of which sports ?

(A) Tennis (B) Badminton (C) Hockey (D) Cricket

g @Rt T g1 g 1 1ot e =ifta i, o witg e feadt &
(A) @i (B) Ssfuea i (C) gl Hl (D) Tohehe I

Meaning of the idiom ‘To beat the air’ is

(A) To make frantic efforts

(B) To act foolishly

(C) To make efforts that are useless or vain E‘%
(D) To make every possible effort e

Antonym of the word ‘Magnanimous’ is

(A) Selfish (B) Naive (C) Generous (D) Small

You must your career with all seriousness.

(A) direct (B) complete (C) follow (D) pursue

Tfe’ w1 oo g

(A) =fared (B) =fcrar (C) =it (D) 0 9 s A&l
ELCEEEIRRIDEIC IR

(A) ST (B) smrEwm  (C) from (D) 7

T =TT GETek 61 3 B

(A) TIHTS STd el (B) =< T

(C) =mIeE T (D) 3Tk Twg T
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